166 Answers to Chapter 3 Exercises

32 IxAgx
33 VxAbx
34 VxAxb
35 IxyAxy
36 IxVyAxy
amb:  Vy3dxAxy
37 VxJdyAxy
amb:  JdyVxAxy
38 VxyAxy
39 VxAxx
40 IxAxx
41 Vx~Axx
alt: ~IxAxx
42 IxVy~Axy

alt: Ix~JyAxy

Translation Scheme for 43-46.
Safy: osaidBtoy

Pou oL is a person
43 Vx(Px — JyVz(Pz — Sxyz))
amb:  Vxy(Px & Py — JzSxzy))
44 Vx(Px — dyz(Pz & Sxyz))
amb:  3x(Px & Vy(Py—3zSyzx)) amb: 3IxVy(Py—3Iz(Pz & Syxz))
45 Vx(Px — Ay(Py & ~3zSxzy))
46 Vxy(Px & Py — ~3zSxzy)
47 Ixyz((Rx & (Cy & Sxy)) & (Dz & Lxz))
48 Ix(Fx & Vy(Hy — Sxy))

alt: IxVy(Fx & (Hy — Sxy))
amb:  Ix(Fx & Iy(Hy & Sxy))

49 Ix(Fx & Yy(My — Sxy))
50 Ix(Wx & Vy(Fy & Exy — My))
amb:  Ix(Wx & Vy(Exy — Fy & My))
51 Ix(Wx & Vy(Fy & My — ~Exy))
52 Ixy((My & Fy) & Exy) — Vx(Sx — y((My & Fy) & Exy))

amb:  Ixy((My & Fy) & Exy) — Ix(Sx & Iy((My & Fy) & Exy))
53 Vwxyz((Jw & Txw) & (Oy & Tzy) — Lxz) [Tap: o is B tail]



